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1. EZzzkok (SHhk258, Af40%, Bfk14r, C#H 1457308 )
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* NAD_FENE
LADTESENBC EDOREEZD LT B L,
B D C AB: AC = BD: DC

AD LA DZZETTH 2005,

AB: AC = BD:DC
8:6 = x:3
4:3 = x:3

3r = 4x3
x = 4

BD 23/B D " EHRETH B0,

BC:BA = CA:DA
rz:16 = 15:12
rz:16 = 5:4

dr = 16 x5
x = 20

CD 24C D _ZFHRiETH 5005,

CA:CB = AD:DB
10:14 = (18—x):z
5:7 = (18—x):x
502 = T7(18 —x)
Sz = Tx18—-Tx
120 = 7x18
20 = Tx21
. = 2L
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EZaoxkok (S, Afh40®, Bi14, CH1330%)

(1)

AD /A DEEGRETH B0 5,

AB: AC = BD:DC
40:24 = 25:z
5:3 = 25:«x
br = 3x25
x = 15

BD 23/B O " ERRETH B0,

BC:BA = CA:DA
9:2 = 6:5
6xr = 9x5
20 = 3 x5
15
r = —
2

CD 23/C D50k CTH 506,

CA:CB = AD:DB
9:15 = x:(22—2x)
3:5 = x:(22—1x)

5¢ = 3(22—z)
5 = 3x22-3x
8r = 3x22
4r = 3Ix11
. = 3
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